
PHYSICS 101B SPRING 2000

FINAL EXAM

PUT YOUR NAME ON THE EXAM RIGHT AWAY!

EQUATIONS AND FORMULAE
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1=3; R0 = 1:2fm N(t) = N0e
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c = 2:998 � 108 m/s �h = h=2�

�h = 1:054 � 10�34 J-s = 6:582 � 10�16 eV-s h = 6:626 � 10�34 J-s

hc = 1240 eV-nm k = 1:381 � 10�23 J/K = 8:617 � 10�5 eV/K

e = 1:602 � 10�19 C There are 1:602 � 10�19 J per eV

me = 5:110 � 105 eV/c2 = 9:109 � 10�31 kg a0 = �h2=mke2 = 0:0529 nm

R1 = 1:097 � 107 m�1 k = 8:99 � 109 N-m2/C2 (electrostatic constant)

N0 = 6:02 � 1023 R = N0k = 8:31J=0K �mol

mp = 938:3MeV=c2 mn = 939:6MeV=c2

G(x;�) = A � exp[1=2(x2=�2)] A = 1=(
p
2��)


